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Response tables
> points = 100
Pts agree
ANnswers agree



QUIZ
FOLLOWS



(a) 1

(b) 2

arithmetic

14+1=77

99%

O pts




d
— [xsinx +4cosx] = 77
dx

(a)sinx 4+ xcosx —4sinx

53%

(b) (1)(cosz) 4 (0)(—sinz)

(C) xcosx — 4sinx

21%

14%
11%

(d) none of the above

Topic 0360 10 pts



Principle of log diff:
fl(x) =77

(@) [f (@)](d/dz)(In | f(z)])]

(0) [f'(@)]/1f ()]
(c) (d/dz)(In|f(z)])

(d) none of the above

Topic 0250 10 pts



el —1 —2x

72

= 77

8%

74%

9%

9%

M
x—0
(a) o©
el — 1
lim
(b):r—+0
(c) DNE
(d) none of the above
Topic 0410

10 pts




615 -+ 7x% — 823

lim

r—0 _7.5(:5 — x4 + 9.5(:3_

(a) DNE

(b) —8/9

() 6/7

(d) none of the above

Topic 0200

= 77

99%

10 pts




lim (sinxz + cos.cr;)l/m — exp ( lim ??)
r—0t r—0Tt

(@) (1/z) [In(sinz 4+ cosz)] 0%

(b) (In(Sin .CC) -+ |n(COSac))1/33
(c) (1/x)(In(sinz) 4+ In(cosx))

(d) none of the above

17%

Topic 0420 10 pts



n(1+ (3/n)) ~ _3/n

n — oo

im n[In(1 4+ (3/n))] = 77

n— o0

(a) 0

(b) 3

(€) o0

(d) none of the above

Topic 0420

90%

11
10 pts




[d/dx][tan(zy)] = 77

(a) —[sec(ay)]ly + =y/]

(b) —[sec?(zy)]ly + ]

(¢) [sec?(zy)]ly + =]

(d) none of the above

0% 0% 0% 0%

| 1. 2. 3. 4,

Topic 0430 10 pts  *



[d/dzx][xe¥Y + y] = 77 \

(a) e¥ + xze¥ + 1

4%

(b) e¥ + zeVy' + o

(c) e¥ + ze¥ + o

(d) none of the above

Topic 0430 10 pts o



d/de] e’ + y) = e¥ + wely’ +
= e¥ + (ze¥ + 1)/ rel¥ +y =

(a) e¥/(ze?¥ 4 1)

92%

(b) —e¥/(xe¥ 4+ 1)

(c)(1—-¢eY)/(ze¥y 4+ 1)

(d) none of the above

Topic 0430 10 pts H



y' = —e¥/(ze¥ + 1) reY +y =1
slope at (0,1)7

(a) 0 0
(b) —1
(c) —e

(d) none of the above

Topic 0430 10 pts
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